(1)SIERT72 (8117 : 1)
HBEHEL| 48 58 68 A 84 98 108 [ 118B| 128 18 28 38 FESt
bl 13,224 13,224
BHRE 3,281 3,281
EFE 2,269 2,269
SR 7,343 7,343
MBE 2,691 2,691
5= 2,961 2,961
BER 4,884 4,884
ZHe 12,428 12,428
wAE 6,144 6,144
HER 4,798 4,798
BEE 8,976 8,976
FE8 | 21,111 21,111
RRED 1,805 1,805
=8 5,572 5,572
FiRe 5,382 5,382
BEWLE 3,807 3,807
BINE 2,711 2,711
BHE 1,091 1,091
WS 1,067 1,067
EHE 4,563 4,563
[ 4,606 4,606
BRE 6,919 6,919
BRIS 13,848 13,848
=88 4,394 4,394
HER 665 665
REBAT 9,628 9,628
ABRAT 4,542 4,542
eS8 11,447 11,447
=RE 1,230 1,230
FIE ] 4,126 4,126
BWE 1,826 1,826
SIRE 1,551 1,551
IS 4,442 4,442
LhE88 5,360 5,360
WoE 2,841 2,841
BER 1,341 1,341
B 1,811 1,811
BIRES 3,272 3,272
SRS 1,120 1,120
Bme 10,301 10,301
== 3,737 3,737
Eg8 3,053 3,053
REARR 4,386 4,386
PNal 4,087 4,087
SIFE 4,129 4,129
BrRes 3,357 3,357
e 5,600 5,600
&5t (%) |239,727 239,727

XEFHIBEBEZSTIZH.

r8as s OIVEICE DS BRERIRNR] ORECRPIERDET.




(270 V3EOIRTE (&Bf )

HBEHEL| 48 58 68 A 84 98 108 [ 118B| 128 18 28 38 FESt
plf3c] 12,132 12,132
558 2,945 2,945
EFE 1,873 1,873
SR 6,969 6,969
MBE 2,714 2,714
5= 2,686 2,686
BER 4,807 4,807
ZHe 11,254 11,254
AR 6,010 6,010
HER 4,450 4,450
e 8,504 8,504
FEE | 20,064 20,064
RRED 1,290 1,290

W) 5,232 5,232
FiRe 5,106 5,106
BEWLE 3,560 3,560
BINE 2,702 2,702
BHE 1,128 1,128
WS 998 998
EHE 3,642 3,642
[ 4,269 4,269
BRE 6,500 6,500
BRIS 12,345 12,345
=8 3,895 3,895
HER 609 609
REBAT 9,622 9,622
ABRAT 3,493 3,493
eS8 10,095 10,095
=RE 867 867

FRMUE | 4,092 4,092
SIS 1,770 1,770
SRS 1,480 1,480
IS 4,101 4,101
LhE88 5,583 5,583
WoE 2,632 2,632
BER 1,052 1,052
B 1,604 1,604
BIRES 2,258 2,258
SRS 1,068 1,068
e 9,066 9,066
== 3,715 3,715
Eg8 2,988 2,988
REARR 3,978 3,978
PNal 3,651 3,651
SIFE 3,832 3,832

BRESR 2,129 2,129
PR 4,313 4,313

Bt (%) |219,073 219,073

KEFIBEBESDCH., TBEBEVT A DIVACEDSBRLERRNR] OHEBECIIRENET.




(3) ARIA T2 (8417 : #5)
HBEHEL| 48 58 68 A 84 98 108 [ 118B| 128 18 28 38 FESt
plf3c] 14,468 14,468
BHRE 3,792 3,792
=F8 2,527 2,527
SR 7,318 7,318
MBE 3,156 3,156
5= 2,781 2,781
BER 5,346 5,346
ZHe 13,263 13,263
AR 6,434 6,434
HER 4,936 4,936
BEE 9,169 9,169
FEE | 21,584 21,584
RRED 1,318 1,318
=8 5712 5,712
FiRe 6,026 6,026
BEWLE 4,224 4,224
BINE 2,967 2,967
BHE 1,199 1,199
WS 1,204 1,204
EHE 4,730 4,730
[ 4,648 4,648
Bme 7,187 7,187
BRIS 15,147 15,147
=8 4,787 4,787
HER 648 648
REBAT 10,226 10,226
ABRAT 4,226 4,226
eS8 11,754 11,754
=RE 1,310 1,310
FRMUE | 4,237 4,237
BWE 1,847 1,847
SRS 1,539 1,539
IS 4,670 4,670
LhE88 5,988 5,988
WoE 3,033 3,033
(=l 1,357 1,357
=N 1,753 1,753
BIRES 3,120 3,120
SRS 1,124 1,124
Bme 10,804 10,804
== 3,961 3,961
EBe 3,275 3,275
7N 5,125 5,125
PNal 4,464 4,464
SIFE 4,591 4,591
BRESR 3,457 3,457
et =] 5,759 5,759
Bt (%) | 252,191 252,191

XEFHIBEBEZSTIZH.

r8as s OIVEICE DS BRERIRNR] ORECRPIERDET.




(4) IRF T 32 (8411 2 D)
HBEHEL| 48 58 68 A 84 98 108 [ 118B| 128 18 28 38 FESt
plf3c] 16,879 16,879
558 11,157 11,157
EFE 2,089 2,089
SIHE 13,436 13,436
MBE 3,509 3,509
5= 3,336 3,336
BER 9,739 9,739
TS 6,311 6,311
WwAE | 20,796 20,796
3= 7,067 7,067
e 12,432 12,432
FE8 | 31,621 31,621
RRED 2,948 2,948
W) 9,260 9,260
FiRe 9,311 9,311
SWE | 20,645 20,645
BINE 3,036 3,036
BHE 1,549 1,549
WS 1,187 1,187
EHE 4,926 4,926
[ 3,867 3,867
Bme 10,209 10,209
BHE | 26,404 26,404
=8 6,580 6,580
HER 7,016 7,016
REBAT 16,888 16,888
KERAT 5,715 5,715
eS8 19,023 19,023
=RE 1,289 1,289
FIENIIE! 4,540 4,540
SIS 3,758 3,758
SRS 1,399 1,399
BLE 15,910 15,910
LhE88 5,829 5,829
WoE 7,910 7,910
BER 1,060 1,060
=N 5,277 5,277
BIRES 3,296 3,296
SRS 1,204 1,204
Bme 15,433 15,433
HER 6,143 6,143
Eg8 3,989 3,989
N 12,313 12,313
ADEB 6,776 6,776
SIFE 4,565 4,565
BRESR 3,099 3,099
PR 8,667 8,667
Bt (%) |399,393 399,393
XEHIBEEESDZH,. TBBEI Y1 UIVACEDI BRLERKR) OHECIFRENET,




